15CV751

Time: 3 hrs. Max Marks: 80

Note: 1. Answer any FIVE full question
2. Missing data, if any, may bge ‘suitably assumed.
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vchoosing ONE full questwn from each module.
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B 1 a. Explain Briefly, the neeé%%nd role of metro rail transportation with its relative advantages.

8 “ Vo4 (08 Marks)
g o b. List the various urban traffic and transport problerps ih India. (08 Marks)
D= 1 ] -
<
S8 iAo’
'ga n 2 a. Compare the 1 mass, pubhc and private transport systems, in detail. (08 Marks)
g 5 b. Explam b e%l‘y, the various stages inyolved in urban transport planning process. (08 Marks)
£58 Module-2
§E 3 a. Define zone. Mention the d1fferent factors considered T %wadlng the whole area into zones.
£ Ay (08 Marks)
é = b. List various surveys require "to collect data n urhan transport plann&%ing and explain home
cg interview survey, in detaﬂ, G, ¢ P (08 Marks)
T & 5
z 2 4 a. Briefly explalmihe expansxon of da from samples and expanswn factors used in urban
g TE transport planning. N (06 Marks)
= e b. Explain with sketch, various basic movements in transpoxtatlon survey. (05 Marks)
-(—;) S c. fourimportant factors con31dered while selecting external cordon line. (05 Marks)
g 8: ﬁa@' Y
o <
O” g"
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E 8 5 s ation and trip attraction. (06 Marks)
g§E y rlSt the various assum%gons considered in egory analysis. (05 Marks)
- O 0
ég c. Explam multiple 1 regression analysis. (05 Marks)
B3 ,
o0
g 5 6 a. Briefly explam Furness method, with its advantages and dxsadvantages (06 Marks)
=z b. The table below gives data for vehicle trips/day, income and persons in a household for one
O <
3 e of the study area. Devqlo the trip generation equations between income and household
s persons. Indicate which one'is more reliable and why?
z . ¢
g Income (lakhs/year) 5 10 15 20 25 30
g Petsons/ household 4 6 8 9 8 6
= Trips/day 5 16 | 8 | 4 | 4 | 6

(10 Marks)
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Module-4
a. Explain the various factors governing modal splij ) (06 Marks)
b. A self contained town consists of four res1dent;a1«areas A, B, C and D and two intermediate
estates X and Y. Generation equations shojv% Ihat for the design year“(proposed), the trips
from home to work generated by each resﬁﬁ%n ial area per 24 hour as follows :
A — 1000, B - 2250, C — 1750, D 3200 There are 3700 jobs in 1ndustnal estate X and
4,500 in industrial estate Y. Attragti

\ N “Zones X
g 15
15
10
15
Table. Q7(b)

Calculate an% tagulate the inter zonal trips: for Journey from home to work. (10 Marks)

will@lieclie

a. With, th% h p of flow diagram ex 1a1 ‘ gthe modal split carghg%mut after trip distribution.
(08 Marks)

calibrated, resultmg the foll éﬁgwmg unlty funcnon u 'akv— 03 €= 0. 02T@Where c = out of
pocket cost in rupees, T t ‘{rel time in mmutes, ﬁ% mode spemﬁc constant The attributes,

(08 Marks)

(08 Marks)
method, n trip
(08 Marks)

With a ﬂow &hart explain the fundamental structure of Lowry model. (08 Marks)
List the various ass1gnment techmques and explain all or Nothing method. (08 Marks)
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